
Two Way Analysis of Variance	Monday, April 30, 2018, 2:49:55 PM

Data source: Day 7 in AgNPs - Day 7

Balanced Design

Dependent Variable: Avoidance 

Normality Test (Shapiro-Wilk): 	Passed	(P = 0,754)

Equal Variance Test (Brown-Forsythe):	Passed	(P = 0,200)

Source of Variation	 DF 	 SS 	 MS 	  F 	  P 	
Temperature	1	1504,167	1504,167	0,467	0,503	
Ag concentration	2	15925,000	7962,500	2,470	0,113	
Temperature x Ag concentration	2	1108,333	554,167	0,172	0,843	
Residual	18	58025,000	3223,611			
Total	23	76562,500	3328,804			


The difference in the mean values among the different levels of Temperature is not great enough to exclude the possibility that the difference is just due to random sampling variability after allowing for the effects of differences in Ag concentration.  There is not a statistically significant difference (P = 0,503).

The difference in the mean values among the different levels of Ag concentration is not great enough to exclude the possibility that the difference is just due to random sampling variability after allowing for the effects of differences in Temperature.  There is not a statistically significant difference (P = 0,113).

The effect of different levels of Temperature does not depend on what level of Ag concentration is present.  There is not a statistically significant interaction between Temperature and Ag concentration.  (P = 0,843)

Power of performed test with alpha = 0,0500:  for Temperature : --
Power of performed test with alpha = 0,0500:  for Ag concentration : 0,273
Power of performed test with alpha = 0,0500:  for Temperature x Ag concentration : --

Least square means for Temperature : 
Group	Mean	
20	18,333	
15/25	34,167	
Std Err of LS Mean = 16,390

Least square means for Ag concentration : 
Group	Mean	
10,000	-7,500	
20,000	31,250	
40,000	55,000	
Std Err of LS Mean = 20,074

Least square means for Temperature x Ag concentration : 
Group	Mean	
20 x 10,000	-22,500	
20 x 20,000	32,500	
20 x 40,000	45,000	
15/25 x 10,000	7,500	
15/25 x 20,000	30,000	
15/25 x 40,000	65,000	
Std Err of LS Mean = 28,388
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